AP 2APpRAYF 1098 ERSF-FH 41 2oy & HALY

ERFF B 1 & 3L 5ot
— .=
1. ( B) #E » £ACB=90°> M~ N 735 F BC &1 AC #y&h » AM B BN FH%CR O B - %5 AC =12 BC =9 AfON = ?
A
N
0)
B M C

(A5 (Bn/13 (C)3\/13 (D)10

2. C A ) THIR—(E&E T EEE TS MER - T E 2 R KAV 2

(132 1

A3 3 (B) e 6 .
12 il
{2 .
5 Tt

©rz) 2] O ° L
12 71

&
~
=

) NERERE R AN = A ERE T aa N E N o SR R D) ?

(A =m &R = 4t]

(BB =AML EREA = f EL Y]

CYE=APEREN =NAFE 48]

Dy =mEERE =B LAET]

4, ( C ) 4ifE > PBAIPD 3HIZXEXA~B~C-D>» HPC=3> PA=2>CD=7> HIAB=?

(A)11 (B)12 (C)13 (D)14

5. ( A) #I[E > B &y OP fyshE: » E43 PAE O 1A A B > 75 PA =43 > HIAOAB (yEif& 5%/ 2
A
P<—gpg

(A3 (B)8 (C)8\3 (D)12

) B B P R B R BB ARG - T H I 5 2
(AERIER S - BIEZ L ER S R
BYEWEL AR SR » B R332 0B &
CHEMRLAREE BRI 2 %0 i
(DYERZ LIS R - QIS LIS &

) T ATE—E RAHIY 2

(B ER 5 ASIIEH BB E B 3 A INEN
(Z)ER 6 A5 ~ Bk 4 NSHIEHTVEE R 9 A5 « Bk 6 AR
(P9 Wl PP

(T WIHE AR EHIE LS
AFE-Z-T BF T

©Z W T O Z

o
~
w~]

=
~
=



8. (A ) MEEARFIFSET(IE C Blk) Al BB S » MEATR » 2 SRS E WIS AB )5 160 /4% » BC =

2 AR > CD =8 AR » Hs1= 22> Hilfgfs ED KHZ/DAR?
E

A

B¢ D
(A)6.4 (B)6 (C)5 (D)4.8
9. ( C) 4E % AB ~ CD #gh—EfmEE - JI R34 e & FHE ©

A D

C
B

(A7 B2 N 52 Y Ui BE P T i Y DU B = T 1
(B)##i# AD - BC - HIf AD // BC
(C) ~ADB+ .~ ACB=180°

— 1, —
(D)% AB B CD f{J35%i 5 E » ] ~AEC=5(AD + BC)

10. ( B ) #1f@E - P ;[E O 4h—25> PA - PBJE O+ A~ Bi%EE - OP 33[B] O 1A C B » HIE F5I{a & R ?
A

<X

(AC B 55 /\PAB HIHh0
(B)C %i 5/ \PAB HII [,
(C)C B: 25/\PAB I,
(DYRRAIAPAB B {offl= il - U mEHIE C B Aol
L. (D) —FBPMFEERL 8675 FILTHBIEIEAITET B 5 HIEORBT SRR 7 - QISR
R B 2
(A)30 (B)32 (C)40 (D)42
12. (D) ¥iE - PA - PB ¥55H O bt » AI T FURCITE EHE 2
() OA L AP > OB L BP (Z)/\OAP=AOBP

(%) AP = BP (T)AB L OP

(o)
AB
P
(AVEH ~ ZIER# (BYEH ~ 2 ~ NIEH#E
CYEH -~ N~ TIEWE D)F -~ 2~ W~ THIERE
13. ( D ) WE > EXIFIEF ABCDE {£4E4M O > AE = AB = BC » ~AOB=44°, ~BCD=108°" H]DOC= ?

A B
D
(A)118° (B)112° (C)108° (D)100°




14.

15.

16.

17.

18.

19.

20.

21.

22.

) 4@ FEAABC s 2 B=90° D ~ E 43Rl AB - BC fyth®h » H CD Fl AE /%514 F B » 5 AB =6 /34 » BC

=9 N4y > RIIU#TE DBEF WYIE R/ A7 2
4

D

F
B E C

(A)27 (B)18 (C)9 (D)4
) #0fE > 7EAABC i » DE /IFG//BC » AC =12 Hx=?

A
4

SN

G
F; X
o C

A1 BT ©1 O

) BEE 6810 (Y= » HIMFITEBEATIESE B 2

(A)3 (B4 (C)5 (D)8

) % AB B O (VELL - P 2 —Fih F—8 > %5 ~APB=100° > HI| P B5{E FHIWHELE I 2
(A)ESN (B)ELL (CEN (D)FREHEE

) 0@ - [l A~ B~ C =EHEEESYE 3 : 4 5 (={ELAB ~ BC - AC - HI F%IE - AABC HIAUI A% $E55 2
A

C
(A)AABC B EA =
(B)YAABC =Ntk /3 :4:5
(C)/\ABC E#ifa=ral
(D)AABC =38 k/NEi{4 5 AB < BC < AC
) 48 > 7EAABC B 5 ~BAC=090° G BEBE T, » 25 AG =8 » HIAABC Hy/MEERERE S/ 9
A

B 0] C

(A9 (B)12 (C)16 (D)18

) 40[E » £ 7% EFBG B1E 757 ABCD #ifll » E241 AD =2 CD =6 EF =x- H EG > EF > HI F%IWj—(E5E ]
ISR ek Ty e

D 6 C
) G
xi
A F B

(A)3x* (B)12—3x (C)12—6x (D)12—3x?
) AABC 1> ~A=90°> AB =12 BC =15 44 AABC SEIELEE AABC > H AB fy%ffEE AB =9 H| AC
(U ER AC = 2
27 27
(A5 (B (O, (D)8

) WiE > EXIETTH ABCD #UIEIRRH ~ £~ A~ TEAFEIEIGH - SitRIEE T HVEesHEr & 5 ABCD A1 151
UA— el FEAH L 2

A8 D
FH Z 9
2 15
[ T /6

C

B
(A B)Z ©F D)T



23. (A ) W AAEFE FAREEE > NESRETR P - Q FiE: - AEIECRIH A~ B - C - D [UEE » #5AD =150 Hj

PQ+BC=?
(A)120° (B)135" (C)150° (D)180

y
o Ke
CB X
D
24. ( B )ﬁD’AABC¢’4A:90°’ DE | BC »# AB =5 AC =12 H|JCD : DE : CE

A
m
B D C
(A)5:12:13 (B)12:5: 13
(C)5:12:15 (D)12:5: 15

25. ( C ) #E > E510A : OA'=0B : OB'=0C : OC' =1:2- H]AABC Hf& : AAB'C' Hfti= ?
(A)1:2 (B)1:3 (C)1:4 (D)2:3

A
A
0
B
B! C'

26. ( C )A-~B-C-DVUE/EE O | » {RIEGEIE ST B Pufy » #AB : BC : €D : DA=3:2:7:6 H|~ADB+ ~ACD= ?
(A)60° (B)75° (C)90° (D)120°

27. ( C ) 4@ A~B-~C- D [E PUB: - B4} AB - Fi4% CD ZHA P B FI4t AD - B4 BC %t Q B > #%5AB : BC : CD

AD=2:3:4:1> I /P+ Q=7
(A)60" (B)68" (C)72" (D)80’

P
A D
Q
B
C

28. ( C ) #I[E » PU#EF ABCD it » H¥ffe4s AC =16 /A%y~ BD =8 /34 » HE~F~G-~H4H AD ~ AB ~ BC ~ CD Iy
ik > HITWER EFGH HIE & B2/ b4y 2
D
A E

(G

|
-~

(A)12 (B)18 (C)24 (D)26
29. ( D) THIERIAHLIEAIRCL - ol ERE ?

(A) 5} E /& B A AT R E 7S 2 2 M H DL

(BYEE R BT IS 0 H {2

(O = R 1 R = A 2 o E (P

(DYEEME = A E EE R EE FH L
30. ( C ) 4IE > DE/FG/BC D-~F& AB [f{y%:E~ G+ AC [-fy%5> . AD : DF : FB = AE : EG : GC =3:

2:1.% BC =15 H| FG = ?

4
D, E
E G
B C

(A)75 (B)10 (C)125 (D)13



